


The VANG Game - Integer Operations - Answer Key
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Six are from planet 
negatron and two are 
from planet negatron. 

They get together.

Two are from planet 
positron and six are 

from planet negatron.  
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Two are from planet 
positron and six are 
from planet positron.  
They get together.

Six are from planet 
positron and two are 
from planet negatron.   
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Subtracting negative 
two from negative six 
is the same as adding 

positive two to 
negative six.

Subtracting 
negative two from 
six is the same as 
adding positive 

two to six.

Subtracting six from 
negative two is the 

same as adding 
negative six to 
negative two.

Subtracting negative 
six from negative two is 

the same as adding 
positive six to negative 

two.

When multiplying 
negative two and 

negative six, the product 
is positive (good) 

because they are from 
the same planet.

When multiplying 
negative six and 
positive two, the 

product is negative 
(evil) because they are 
from different planets.

When dividing negative 
six by negative two, the 

quotient is positive 
(good) because they are 
from the same planet.

When dividing positive 
six by negative two, 

the quotient is 
negative (evil) 

because they are from 

x = -6 + -2

x = 2 + -6

x = 2 + 6

x = 6 + -2

x = -6 – -2

x = 6 – -2

x = -2 – 6

x = -2 – -6
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x = -6 ÷ -2
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different planets.


